AvTwVupieg

(Pronouns)

A. NMPpoowmKESG AVTWVUHIEG
(Personal pronouns)

The personal pronouns refer to the first,
second or the third person. In Modern
Greek there are two categories of personal
pronouns: the weak / clitic forms (which are
bound to the verb) and the emphatic forms.
In addition, the pronominal forms differ as
to whether they substitute direct objects
(Accusative), indirect objects (Genitive) or
subjects (Nominative). O Zoyivng EEper tov kAépty. Tov deiyver

a. Amamnkn ka1 Fevikny (Accusative and Genitive)

Accusative
singular plural
emphatic  weak emphatic weak
&’ | (entva) ue iaPsh | (epdg) uag

G

E‘% é? (eoéva) ot s%@ (e0dc) oag

p (autdv) Tov ;ﬁ, (autolg)  TOUC
@ A (autA(v))  Tn(v) &a“/ Tﬁ@ (aUTé,C) TIG
€ (auTo) TO (autd) Td
O Zayivns Eéoet |tov #Aéptn O Zayivns Eéoet [tovs xAépreg
cE B
ﬁ%‘” C:f% Cﬁ‘b C:)a?

—————————————

_____________



Genitive

singular
emphatic weak

= (epéva) Hou

G
E‘% {-:? (eotva) oou
; (auTov) TOU
ﬁ§$ & (autic)  TNg
“@ (autov) TOU

O Zayivns uikaer |otov xAéptn
cE

—————

_____

These pronouns can be used as objects
of the verb, either as a direct object in
accusative (a) or indirect in genitive (b).
The pronoun tov replaces the noun phrase
to Xayivn, which is the direct object (in
accusative) of the verb fAémeLs.

Position

Contrary to English, the weak (clitic) pronoun
immediately precedes the verbal form. This
happens even if there is a negation dev/unv
or if the verb is in future tense, in perfect
tenses, or in the subjunctive mood.

plural
emphatic weak
2Pa=h | (endc) uag
E‘%@ (e0dc) oag

% &
%

(autwv) TOUG

O Zayivns uilaet

o -

(A

oTOoVG XAEQTES

[

|

(a) BAémeis to Zayivn,

Nau, tov BAénw

(b) TnAepavnoes otovs yoveis oov;
Oy, dev Tovs TnAepavnoa axoun

.. "
')
e

Aev TOV

Oa TOV
OV

Na (unv) T0V

PAlémw

PrLémw

Eyw Oct/eiya Oel
ow
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The weak (clitic) pronoun follows the verb
in the imperative or with the adverbial verb
form /-ondas/.

Emphatic pronouns

The most commonly used pronouns are the
weak/clitic pronouns for direct objects.

When we want to emphasize the person,
we can use both the emphatic and the
weak forms. In this case the emphatic
pronoun can be either preposed, i.e. placed
before the person, or postposed, i.e. placed
afterwards. This would then be said with a
mild emphasis (topic intonation).

The same structure appears with lexical
nouns.

We can also use the emphatic pronoun
exclusively when we want to denote contrast
between the specified person and nobody
else. In this case the pronoun is stressed
with a focus intonation (strong emphasis).

* Do not confuse the personal pronoun
(immediately preceding the verb) with the
possessive pronoun (following the noun it
modifies, see possessive pronouns).

Aeg
Blémovrac

TO0V
TO0V

Eoéva oe Eépet 0 Zayivns
e E€oel 0 Zayivns egéva

To Iiwoyo tov Eépetl 0 Zayivng
Tov Eépet 0 Zayivns to Tweyo

it is you (nobody
: else)
EXENA Eépet 0 Zayivng
it is you that
. they want

Aev Oélovy To Sayivn, eoéva
Oélovy

H AyxdOa xaleoe to Adxn xai tny KAeid
OTO TTAQTL XAl TOVS ELTTE VA PEQOVY TOVS
O0loxove ToVC.




* Exclamatory phrases like va tog!, va !,
va to!, va tou!, va tec!, va ta! etc. are forms
of the weak / clitic pronouns in elliptical
sentences:

* If the prepositional phrase functions as
an indirect object, then it can be replaced
by the weak form in genitive.

The prepositions (artd, ue, og, yia, xweig)
always take the emphatic and never the
weak pronoun.




e With verbs taking two objects

(ditransitive) the pronouns can substitute

both objects but they must be placed in a

strict order: indirect / direct / verb. Telixa, o Zayivns é0woe Tov
voloyioti tov oty AyxdOa,

¢ i

direct object| |indirect object

x T
I
Nay, tngirov édwae tedixd, yiati ftav agyds
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In Modern Greek, simple sentences do not ) A ) )
normally take a subject pronoun since the <A@ @" va paw 1aynto
person is denoted by the ending of the verb.

In this case €y is not mentioned because it

is denoted by the ending -w. E‘L

Similarly: Oéletg maywto; (motog; —>eov) i?
Oélete Taywto; (molog; —>€0eis) E‘%@

(see syntactic functions). We only use the as for

emphatic pronouns in order to emphasize you

or show contrast: it is me

Eya ¢ va pdw waywto, oyt o Xayivns

Eov yiati oev widag;



ACTIVITIES

1. Replace the underlined objects with clitics and answer the questions

1. Oa wioeig oy KAewd yio to Adx;

Nou, , OTOV TV 0

2. [16te Ba yvweioelg TEAOOTAVIMY TOUS (EAOVS 0OV OTY UAva. OOV,

[Toté

3. Zqmoeg amd ) Mapio 10 ThAEQmVO Tg;

Oy,

4. Mrtopeic va otethelg QUTES TIC TOOORAMOELS OTOVS (EAOUS UaLS;

Noau, wroom

2. Form sentences by placing the words in the right order

1. va / meg / otv wpa Ttov / €p0eL / Tov /

2. woté! / Eeydow /v / Ba./ dev /

3. eviwapépel / Tov / ue / T / amwooyohet / dev

4. va / tov / ovvavtioet / BéNeL / v/ Tov / va. / moetl /  EAévn
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3. Fill in the blanks with the weak forms of the personal pronoun

‘Otov 0 AMEENC ne Tov Aviovio €gtaoav otV auuovdld,

eidav ™ Zogia ue mv Katepiva Eamhmuéves otov HiLo.

Méhg TAnotaoay, To ®oQitoLa oMUY :?‘
yoavoe YOULQETHOOUV. o
Arégng: Now OVOTHOW TIG PIheg wov, ™ Zogia now v Katepiva. il

Avtovio: Xaigouol.

2ogia: Ku eueic. Av 0ev »avw Mabog, xdmov Exw Eavadel.

AAEEng: Alyo dvonoho, yioti 0 Avtovio eivan amd Ty Agyevevi xou eivor uévo 0o

.4 uéoeg omv EAMGda.
Sogia: E tote Ba TEQAOO. YLOL XATTOLOV GAAOV.
Katepiva: Oy, €xeL dino n Zogia. elyaue

deL oLV amrd tota xoodvia Tl €0 oto vnoi. ‘Exave

moéa ue tov Tann waw v "Elin.

Avtovio: Eépere;

Avtovio: A, glvon ueydln wotogia. ..
ALéEng: "EpaBa 6T gival row avtol edm oto vnot. Toti dev TAEQWVOUUE

va €00ovv edm;

Kartepiva: Kol 10éa!




B. KTnTiKéG avTwVvupieg
(Possessive pronouns)

Possession is expressed by two structures:
a) by the weak form of the personal
pronoun, which is placed after the noun it
modifies, in genitive.

my wallet

‘Exaoa to
TOQTOPOAL OV
b) by the structure
.7 uov
. ooV

0 dundc P ToU

M dwy : : ;25
70 OO N nae
to 00g
S TOUG

The first part (du6g) behaves like an
adjective and inflects for gender, number and
case according to the noun which it modifies.
The second part, the clitic possessive
(wov) pronoun, changes according to the
POSSESSOr.

1| MADE IN
{' JAPAN

e

O O1x6g dov voAoyLoTng O 01x66 uov

elval auepIravirog “ - il vIroAoylotis eivau
YIamwvéCinog
The pronoun dix6g pov is used attributively
or predicatively: O Oux0g pov vroloyiotis eivai

XaLvovQyLOS
O vmoioylotig avtog eivat dixds uov

4 Possession can also be expressed by a
phrase in genitive. To BiBAio Tov Iiavvy | Tov T'iavvny to Bifiio




ACTIVITIES
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1. Fill in the blanks with the appropriate possessive pronoun

{ )El-w O Zayivng €xeL évav axoipo poxd
ﬂ
h-*% R) O gandc rov xaomue

1. H Ayxd0a aydpaoe ratvoigla povota

To vpaouwo  OeV TOOAARDVEL

2. O Admng now  Khewd myyav wa foAta pue ta modjhotd

3. Ou piheg uov €delEav T pwrtoyoapies

4. Xaoaue yteg ToL *AeLOLAL

2. Transform the sentences as in the example
H Mogla €xel nalitepo omitt amd uéva

To omit 7776 Maoiag elvon valiteQo amd 70 O1x0 1ov

1. Ou yoveig pov €yovv meproootepa PLpiia amd oéva

To Bupiia elvou weLoodTeEQX Qo

2. Epeig éxyovue pueyalitepa dmudtio oo oog

Toa doudnd elval pueyahivtepa oo

3. Autdg €xel o 6o Qiln amd uéva
H oiin elvow o duopen oo

4. O ITét00g €yeL o weaio oy vidia amd owtovg

To oy vido elvon o woaio orrd




C. A€eIKTIKEG, AOPIOTEC KAl AAAEC AVTWVUHIES / MPOOSIOPIOTEC
(Demonstratives, indefinite and other pronouns / determiners)

_ auToc / eKeivoc Kdmolo¢ / kdmi émoiog / 6,11
T . , , kavévac / Timota OTI0I008ATIOTE
HOIOC'/:; i310¢ / pévog / ahhog Kaet’:vagg / KaOerTi 0TI6I”]T?OT8

— TOOOC kavévag / kaBdéAou 0600¢
~ Téoog: 0Aog 00000ATIOTE

S

- TETOI0C
Ti gidoug;

.

The pronouns ®aBévag and ravévog are inflected according to gender and case and are
always in singular. They are declined like évog, uia, €éva as follows:

A Q &

masculine feminine neuter
nom kabévag kaBepia / kaBepid kaBéva
acc kaBéva(v) kaBepia / kaBepid KaBéva
gen KaBevég kaBepiag / kaBepidg kaBevég

A Q &

masculine feminine neuter
nom | kavévag / kaveic Kapia / kapd Kavéva
acc kavéva(v) kapia(v) / kapia(v) Kavéva

gen Kavevog Kapiag / Kapdg Kavevog




The pronouns are inflected for number,
gender and case following the declension
of the adjectives in -og, -1, -0 and -og, -a., -0
(see adjectives).

The pronouns omowoodimote  and
ocoodnrote decline like the pronouns
omolog, 6oog respectively keeping the suffix
-Onrote indeclinable.

The pronouns T, ®dm, timota, ®xabeti, 6,11,
otdimorte, xaB6hov are indeclinable.
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Use

The pronoun zaBévoag, naBepio, nabéva
may have the following meanings:

The pronouns xavévag, raBdhov, Timota
have a negative meaning only when they are
used in a negative sentence. In these cases
the use of negation dev/unv is obligatory.

Aev uIoQ® va acyorlovuat ue ta
TEoPAUaTO 0motovdRTOTE OV TO CNTHOEL

Eida xdtt maliés pwtoyoapics tov Xayivy

1 anyone

Avté umopei va 1o xataldfet o xabévag

each one of you

O Zayivns eime arovg | Ponbois tov: yia,
va, foodue To Anot, o xabévag amé oag Oa.
TAEL O€ OLAPOQETINT] TTOAN

nothing

Orav yooroe o Zayivns oto omiti,
oev Ponxe navévav. Aev eiye timora va

QaeL
‘ at all

‘Etot xat allioc Oev mevovoe xabolov




When these pronouns are used in
interrogative and affirmative clauses,
they have an indefinite and not a negative
meaning.

The pronoun {dw0g, -a, -0 may have one of
the following meanings:

Movog, -1, -0 may be used in the following
ways:

/4 For the pronouns 6moL0g, 0TOLO0dNTOTE

etc., see Relative clauses.

Aéw va mdw xavéva tagiol, yiati Eyw
XOVQAOTEL

any friend

]
Oa mapeis xat xavévay @ilo oov uadi;

‘ nobody

Oy, Oev Oa maow xavévav, avti Ty ood
Oa maw uovog uov

the same

O Zayivys ratdlafe ott § o avBowmog wov Tov
nAepavnoe y0eg fTav o idtog ue avToéy IOV TOV
elye TNAEQVAOEL xal TOLY A0 TOELS UEQES

1 just like
1

O Zayivng eivat idtog o Tammovs Tov

O Zayivns miye o idtog va Ol TOV TATTOV TOV
OV PTAV AQOWOTOS

‘ alone

T—_

H Ayxa6a dev Cet povy tng

the only
man

Méver ue tov Zayivn, to uévo avrea mov

ayannoe
e by herself ’

Eme1dn o Zayivis dovAever modv, wdver uovn
NG OAES TIG O0VAELES TOV OmITIOV
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ACTIVITIES
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1. Answer the questions as in the example

Byvxe napud ®alj towvia outd to piva;

Nau, Pyixre 1o «O§vyovo» twv Pénma xat Ilamabavaociov
Oy, Oev Bynxe xouia

1. YrdoyeL timote yio poryntd 0To omitt ONueQa;

Nau,
Oy,

2. Borjreg ravéva evolagpéov site oto Tvtepver;
Nau,
Oy,

3. 'vpioeg navévay meaio THo 0To YUUVOOTHQLO; fﬁ
Nau,

on o T
" 4

2. Clio went to a party where she didn’t have a good time at all.
Complete her description using the pronouns

i

A\

: _'I-’}

owTog, RATOL0G, RAVEVAS, AANOG, ONOG, (010G, RATL, TTTOTE, ®ABOAOV, UOVOS

Eiuat mold Bupmuévn pe TO (LAO HOV TTOV Ue RAMEOE O€
10 amaiowo dt. [Tpdta am’ 6Aa, dev HEeQa 5

OAAGL How Oev NBele va

UE YVWOIOEL. WAovoov UETOED TOUG %OL OE

uévo dev éleyov . "Yotepa, nd0e @opd mov

mpoomafovoa vo T o€ ,

dev ue dmovye YLOTE 1) HOVOLXT) NTOV TTOAD

duvvari. O 0 @lhOg Hov €uye YWEIg Vo UE

YOLQETHOEL. ZTO0 TENOG EUELVOL uov va. xafouon

VoL %OLTALM TOVG mov yopevav. Tote amogpdoloo

OTL TOETEL EMTEAOVS VAL RAVW %L EYD!




